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s RTCOODOOODOOOODO
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00000000000 rtelog("PublisherPeriodic )0 0000000
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0 O PublisherNew.cppO write()O O O 0 BUFFER_FULLO O m_buffer->write()O O O O

ooooo

if (m_retcode BUFFER_FULL) {
RTC_DEBUG(("write(): InPort buffer is full."));
return BUFFER_FULL,

}

ooooo

if (m_retcode BUFFER_FULL) {

RTC_DEBUG(("write(): InPort buffer is full."));

/0000 >

CdrBufferBase::ReturnCode ret(m_buffer->write(data, sec, usec));
m_task->signal();

/0000 <---

return BUFFER_FULL;

}
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ooooo |
RTC_TRACE(("pushAll()");

try {

while (m_buffer->readable() > 0) {
cdrMemoryStream& cdr(m_buffer->get());
ReturnCode ret(m_consumer->put(cdr));

if0 (retD O SEND_FULL)

0ooooooof
0000000000000 000 returnd SEND_FULL;
0o0O0O0Do0O00O0O0o0o0O0})

{

00000000 returnd CONNECTION_LOST;
0oooooo}

000 O returnd PORT_ERROR;

oo}

m_buffer->advanceRptr();
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000 OcatchO (...)

00o00oo0o0ooOo0oooUoooooo |
RTC_TRACE(("pushAll()"));

try {

while (m_buffer->readable() > 0) {
cdrMemoryStream& cdr(m_buffer->get());
ReturnCode ret(m_consumer->put(cdr));

if0 (retD O SEND_FULL)

0o0ooooogq
000000000000 D00ODO returnd SEND_FULL,
goooooooooooonod
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00000000000 O0elsedifd (retd =0 PORT_OK)
gooooooofq
0O000b0Db0000obOboO0O00Oreturnd ret;
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{

0000000 DO returnd CONNECTION_LOST;
oooooog}

00O 00O returnd PORT_ERROR;

oo}

m_buffer->advanceRptr();
ooooooooood
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00000000 returnd PORT_OK,;
//00000<--
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ooooo {
RTC_TRACE(("pushFifo()"));

try {

cdrMemoryStream& cdr(m_buffer->get());
ReturnCode ret(m_consumer->put(cdr));

if0 (ret0 O SEND_FULL)

oooo{
000000000000 returnd SEND_FULL;
0ooOooooooo)

{

00000000 returnd CONNECTION_LOST;
0oooooo}

000 O returnd PORT_ERROR;

oo}

m_buffer->advanceRptr();

return ret;
oooooog}
000 OcatchO (...)

ooooo {
RTC_TRACE(("pushFifo()"));

try {

cdrMemoryStream& cdr(m_buffer->get());
ReturnCode ret(m_consumer->put(cdr));

if0 (retD O SEND_FULL)

good{

000000000000 returnd SEND_FULL;
goopoooooooyl
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00000000delsed ifd (retd =0 PORT_OK)
oooof
00000000000 dreturnd ret;
ooooooooooy
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{

00000000 returnd CONNECTION_LOST;
gooooood

00O 00O returnd PORT_ERROR,;

oo}

m_buffer->advanceRptr();

return(d ret;
ooooood
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ooooo {
RTC_TRACE(("pushSkip()"));

try {

cdrMemoryStream& cdr(m_buffer->get());
m_buffer->advanceRptr(m_skipn);
return m_consumer->put(cdr);

}

catch (...) {

return CONNECTION_LOST;

}

return PORT_ERROR;

}

ooooo {
/0000 --->
static int leftskip; /00000000

RTC_TRACE(("pushSkip()"));

ooogodtry

oo{

00000000 ReturnCodeld ret(PORT_OK);

00000000 intO preskip(m_buffer->readable()0 +0 leftskip);
00000000 intO loopent(preskip/(m_skipnO +1));
00000000 intO postskip(m_skipnO -0 leftskip);
00000000 forO (intdi(0);0i0 <O loopent; [ ++i)
oooooof

000000000000 m_buffer->advanceRptr(postskip);

00000000000 0O constd cdrMemoryStream&O cdr(m_buffer->get());

000000000000 retD =0 m_consumer->put(cdr);
0000000000000 (retd =0 PORT_OK)
goopooooooof

0000000000000000 mpestskipk3-4-43-8 00080500000

5555555550000 0 returnd ret;
geH888800000000}
Be88-8888-8885pestskipl =0 m_skipnO +1;
geB88000000}
HB-8-8-58-8>advanceRptr(m_buffer->readable());
0000000000 (loopentd == 0)
000000{00//0 NotO put
000000000000 leftskipd =0 preskipd %0 (m_skipnd +1);
ooooooooood

O000O0OogdOelse

oooooof

000000000000 m_retcoded =0 PORT_OKO )OO //0 0000000

00000000 {0O0//0 putD NGO after
0000000O00ooooaoleftskipO =0 0;
0oooooooooood
000oo00oDoo0OdDOelse
00DooOoooo{oo//dputD OKO after
00000000000000 leftskipd =0 preskipO %0 (m_skipnO +1);
ooopoooooooood
goopooooooodl

00000000 returnd ret;
/00000 <---

ooooooy

000 0catchO (...)

oo{

00000000 returnd CONNECTION_LOST;
ooooooy

00O 00O returnd PORT_ERROR,;

oo}
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